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Note: (a) Attempt all questions i sequential order.
(b)Marks are indicated against each question in square brackers,

(c) There is no syniax error, In case, ifyou found the same then ignore it and go ahead'with the
given problem,
Q1. Find the output of following code segment for the given linked list 1->2->3.>4.>5.>, Justify

your answer, [CO4] [2)
void dsa (struct node* gtart)

if (start == NULL)

return;

printf(vgq o, start-data) ;
if (start —hext [= NULL )
dsa(startﬁnextﬂnext);
pPrintf (ngd n, start-data) ;

}

Q2. Justify the functioning of follow;
consist of 100 nodes, RN
int solve (ListNode* list) {
ListNode* fagt = list;
ListNode* glow = list;
while(fast - next i- NULL && fast-next-next != NULL) {
fast = fast—mext—,next;
slow = slow-next;
Jreturn glow-data;

dg sggment and find the output, jf given linked list
: [CO4] [3]

}
Q3. Cogs‘f@er th@{oﬁowing sequence of operations on an empty stack:
«, Push(54); Push(52); pop(); push(55); Push(62); s = pop();
idéy the ollowing sequence of Operations on an empty queue;
j’i]ueue(Zl); enqueue(24); dequeue(); enqueue(28); enqueue(32); q = dequeue();

28

Find the value of s + q? Show all steps of your calculation. [CO4] [2]

Q4. Let S be a stack of size n > 1. Starting with the empty stack, suppose we push the first n
natural numbers jn Sequence, and then perform n POp operations. Assume that Push and pop
operation take X seconds each, and Y seconds elapse between the end of one such stack
operation and the start of the next operation. For m > 1, define the stack-life of m as the time
elapsed from the end of Push(m) to the start of the Pop operation that removes m from S. Find
out the average stack-life of an element of this stack. [CO4] 2]
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Q5. What is the meaning of FRONT=REAR # -1 state in Linear Queue. On dequeue what will
be the new state of FRONT and REAR. [CO4) 12]
Q6. If min priority queue is implemented with arrays with priorities ranging from 0 to 9. At each
priority a maximum of 100 elements can be queued. Give the dimensions and numbers of 1-D
and 2-D arrays required for this implementation. [CO4] [2]

Q7. Consider the queucs Q! containing four

clements and Q2 containing none (shown as cad  Tnitial State cad  Final State
the Initial State in the figure). The only

. !
operations allowed on these two queues are @ n o

Enqueue (Q, element) and Dequeue (Q). Find ‘
1111 HEER

the minimum number of Enqueue operations Q
on Q1 required to place the clements of Q1 in \ ﬂ!{d
Q2 in reverse order (shown as the Final State _
in the figure) without using any additional
storage?

Q8. Construct a binary tree whose preorder and inorder traversals’

Preorder: KLNMPRQST 4
Tnorder: NLKPRMSQT -

o\wufg and provide the justification for

Q9. For a given binary trec of height h, compute the foll
s [CO5] [4]

your answer:
- max # of leaves
- max # of nodes
- min# of leaves

.- min # of nodes .
Q10. Find the output of the foll Wlfig gram. Justify your answer at all steps.  [CO4] 131
#include <stdio.h> \ %
. Q@

int *A, stkTopi . i o .
int stkFunc (int opcode, int val)
& ¥ .

a8

static intesi eto ,wstkTop=0;
switch £§§@gg§%{
ca\ise\ :\{zéize = val; break;
2 Af (stkTop < size ) AlstkTop++]=val; break;
if {stkTop) return A[--stkTopl ;

i
{ %

int B[20]; A=B: gstkTop = -1i

stkFunc (-1, 10};

atlkFunc (0, S5);

stkFunc (0, 10);

printf ("%d\n", stkFunc(l, 0)+ stkFunc(l, 0));
} _
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